SHORT TENDER NOTICE

No. D1/3326/23/GECWYD

Dated: 21.10.2023

E- tenders are invited for the supply of consumables for the electronics and communication Engineering

department of Govt.Engineering College, Wayanad.

SI.No	Tender No	Item
1	06/2023-24	Detailed list attached

GOVERNMENT ENGINEERING COLLEGE, WAYANAD

Thalappuzha PO, Mananthavady, 670644, KERALA. Telephone: 04935-257320(Pri), 04935-257321 (off),

E mail: principal@gecwyd.ac.in

E- TENDER NOTICE

No. D1/3326/23/GECWYD

Dated: 20/10/2023

Tender No	06/2023-24/GECWYD/SN		
Superscription	Purchase of consumables for electronics & communication engineering department		
Last date and time of receipt of Tender through the website (www.etenders.kerala.gov.in)	13/11/2023 2 pm		
Date and time of opening of tender	15/11/2023 11.30 am		
Date up to which the rates are to be firm	31/05/2024		
Bidding Fee	Rs.973+18% GST = 1148/-		
EMD	Rs.4866/-		
Address of the officer to whom hardcopy is to be send	THE PRINCIPAL GOVERNMENTENGINEERING COLLEGE WAYANAD, THALAPPUZHA. P, O MANANTHAVADY PIN-670644		

Specification in detail

SL NO		Quantity	Total Quantity
1	Resistor :- (All values are in Ohm, 0.25W, CFR) 10, 12,15, 18, 22,27, 33, 39,47,56,68,82,100, 120,150,180, 220,270, 330, 390,470,560,680, 820. (24 Items).	300	7200
	Resistor :- (All values are in Kilo Ohm,0.25W,CFR) 1,,2.2,2.7,3.3,3.9,4.7,5.6,6.8,8.2,10,12,15,18,22,27,33,39,47,56,68,82,100,120,150,180, 220,270, 330, 390, 470,560,680,820. (33 Items).	300	9900
3	VARIABLE RESISTOR:- (Potentio meter, Linear, 16mm) 100,470 (All values in Ohm) (2 Items)	100	200
	1,2.2,4.7,10,22,47,100,220,470 (All values in Kilo Ohm) (9 Item).	300	2700
	1,2.2,4.7,10 (All values in Mega Ohm) (4 Nos.)	100	400

4	Capacitor:- Ceramic disc (All values in Micro Farad) 0.001,0.002,0.003,0.0047,0.01,0.022,0.033,0.047,0.1,0.22,0.33,0.47,0.68,0.82 (14 item).	500	7000
5	Capacitor:-Electrolytic (All values in Micro Farad) 63V. 1,2.2,3.3,4.7,6.8,10,15,22,33,47,68,100,220,330,470 (15 item).	200	3000
6	Electrolytic :-(All values in Micro Farad),63V. 1000,2200,3300 (3 item).	50	150
┢	DIODE :-		
7	Silicon :- 1N4001 (1 No.)	500	500
8	Zener Diode:-(400mW) 5.1V,5.6V,6.2V,6.8V,7.5V,8.2V (6 Item).	50	300
9	LED :- (5mm.) Red ,Green Colour (2 items).	500	1000
	TRANSISTOR:-		
	NPN -BC107,BF194,BF195 (3 Items).	500	1500
10	NPN -SL100, SK100 (2 Items)	500	1000
	NPN -2N3055	300	300
	Linear IC's		
	LM 741,LM555 (2 item).	500	1000
	LM565,NE566 (2 Items)	150	300
11	LM311	100	100
	AD633	100	100
	ICL8038	10	10
12	Digital IC's :- (LS Series) 7400,7401,7402,7404,7406,7407,7408,7410,7411,7412,7414,7420,7421,7427, 7430,7432,7440,7442,7447,7473,7474,7476,7483,7485,7486,7490,7493,7495 (28 items).	200	5600
13	Digital IC's :- (LS Series) 74109,74121,74123,74136,74138,74150,74151,74153,74154,74157(10 Items).	100	1000
14	Fuse:- 500mA,1Amp, 2Amp(3 Items).	200	600
15	Single Strand Wire:- 23 SWG	50	50
16	Lead (Solder Wire):-(1Kg.)	2	2
17	Soldering Paste:-1Kg.	1	1
18	Soldering Iron:- 35 Watts	50	50
19	Common PCB:- Line and Dot, 4" X 6" (2 Items)	200	400
20	Bread Board:- (840 Tie Points) with stand	150	150
21	BNC Probe :- (BNC to Crocodile ended)	300	300

22	BNC Probe :- (BNC to BNC ended)	50	50
23	Line Tester:-	10	10
24	Wire Stripper:-	20	20
25	Side Cutter:- (Components Leg Cutting)	20	20
26	Ferric Chloride:- (1 Ltr.)	1	1
27	Copper Clade Board:-	30	30
28	AC Power Chord:- 2 Pin	50	50
29	AC Power Chord:- 3 Pin	50	50
30	RJ45 Connector Crimbing Tool:-	3	3
31	Network Cable:- CAT6,100 mtr.	1	1
32	RJ45 Connector :-	110	110
33	Network Switch:- 1000mbps, 24 port	3	3
34	Switch Cleaning Oil:- WD40	10	10
35	Battery:- 9Volt.	91	91
36	HDMI-HDMI Cable:- 10mtr., 5mtr., 3mtr.	30	30
37	HDMI-VGA Cable:- 10mtr., 5mtr., 3mtr.	6	6

*The Items should be delivered at electronics & communication engineering Department of GEC Wayand.

SPECIAL TERMS & CONDITIONS:

- The quoted rates should be inclusive all taxes, freight charges, loading, unloading, erection and installation charges at GEC Waynad
- The tenderer should send along with his hard copy of documents an preliminary agreement executed and signed in Kerala Stamp Paper value of Rs.220/-with in due date.
- The stamp paper will be supplied to the firms outside Kerala on payment of charge of Stamp paper and postage charge which may be remitted by money order in advance.
- Payment : after successful supply, installation, commissioning and demonstration
- Price Validity: Bids shall remain valid up to 31/05/2024. A bid valid for a shorter period may be REJECTED by the purchaser as non-responsive
- Warranty: as per bid
- Time Limit: The equipment should be delivered within 30 days from the date of issue of the purchase order
- Safe Delivery: All aspects of safe delivery shall be the exclusive responsibility of the vendor. At the destination site, the package will be opened only in the presence of the purchaser and vendors representative. The intact condition of the package and the seal/indicators for not being tempered with shall from the basis for certifying the receipt in good condition.
- Insurance: The supplier is to establish "All risk transit insurance" coverage until door delivery at GEC Waynad
- Penalty for delay in delivery: The date of delivery should be strictly adhered to otherwise: the GEC Wayanad reserves the right not to accept

delivery in part of full.

- Conditional tenders not acceptable: All the terms and conditions mentioned herein must be strictly adhered to by the vendors. Conditional tenders shall not be accepted on any ground and shall be rejected straightway. Conditions mentioned in the tender bids submitted by vendors will not be binding on GEC wayanad.
- The vendor should supply product broacher/catalog with photographs with their firm's address and registration details. The vendor should have service Centre in Kerala and they should have minimum installations in Kerala. The vendor should able to provide AMC for the equipment after the warrantee Period. Each equipment should have a unique serial number.
- SCOPE OF WORK The work includes the following:(1)The supply and installation of equipment with accessories.(2)Testing of equipment.(3)To provide, one copy each of following documentation (on CD/DVD and printed manual, both) a)Installation manual b)operating manual and c)Service manual.
- The bidder should inspect the office premises at their own expense before quoting price

General conditions.

- The price quoted should be inclusive of all taxes, freight charges, unloading charges, installation and commissioning charges and should be furnished unambiguously.
- The stamp paper will be supplied to the firms outside Kerala on payment of charge of Stamp paper and postage charge which may be remitted by money order in advance.
- Printed Lab manual with figures & service manual should be supplied for each item.
- Delivery Period: Maximum Delivery period will be 30 days from the date of receipt of supply order.
- Agreement (Kerala Stamp paper value Rs.220/-) & Security deposit needed. The items should be supplied at concerned section of this institution. The dimension of accessories should match exactly with the present actuator dimensions. No extra adaptors are allowed.
- Date of opening of tender: In case the proposed date declared as holiday, the tender will be opened on the next working day.
- After E-Tendering the hard copy of all documents such as agreement, brochure, and duly filled tender form should be submitted before the opening date.
- The cost of Tender and EMD should be submitted only through online.

NB: The Tender procedure will be made as per Rules mentioned in the Revised Store Purchase

Manual. The bidders should participate this tender through E-Tendering System.

Principal

Dr.Jasmin E A

Principal

LO

3. HOD, ECED

4. SF & OC

The document is digitally approved. Hence signature is not needed.

Draft #3 of File D1/3326/23/GECWYD Approved by Principal on 21-Oct-2023 10:25 AM - Page 7